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28 38,800,002 - JI& 40,000,0008 = A1,200
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e r=an;

MHIES SENE JIEtX Y )
sEJIAIE &= FHl.sX2c (el &J)
ISR IR & L ) £ Off &F oM JIE O &t oH Hns &= 2
O 0g g4 (gots) s2ZE (0= )
4 & 38,800,000& - JI& 40,000,000 = A 1,200
O e SAH(MEZ) s2ZE(0aE2)
Z2 & 38,800,000& - JI& 40,000,000& = A 1,200
O HE ZARAUR) SR ITA (AR
4 & 38,800,000& - JI& 40,000,000 = A 1,200
O e Jtell(& ) s2Z 2 (olaE2)
4238 29,100,000& - J1& 30,000,000& = A 900
O e 22 s2ZF(0AE2)
Z & 38,800,000& - JI& 40,000,000& = 21,200
O og 20112 Z2mos s2ZE(aE2)
2 & 38,800,000& - J1& 40,000,000& = A 1,200
O 0 U sEZH(0IMEL)
Z2 & 48,500,000& - JI& 50,000,000& = 21,500
O g da2 2igz SHaE(ofaad)
&2 & 38,800,000& - JI& 40,000,000 = A 1,200
O e Dt (8ts) s2ZZ(0laE2)
2 & 48,500,000& - JI& 50,000,000& = A 1,500
O oY st&1 otserZ JdI (oAt E )
&8 29,100,000& - J1& 30,000,000 = 2900
O e 281 s ZH(0lAEZ)
2 & 48,500,000& - JI& 50,000,000& = A 1,500
O & 885 T2 8 (0aE2)
Z2 & 48,500,000& - JI& 50,000,000& = A 1,500
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Moo A8 D
B MBS SEME JIBEY .
9 SEIBAIE =5 ZH. KX 22 ool ®
- E = R = & E 2
SM 232 SZHHI(HAED)
23 29,100,0008 - J1F 30,000,000 = A900
S4 2EE RUS SREF(HUED)
HF 29,100,0002 - I 30,000,0008 = A900
M S0l HYS TAREX(HAEY)
™ 29,100,008 - JI& 30,000,0008 = A900
BE2 HOS SREF(HMED)
2 29,100,0008 - J1F 30,000,000% A900
JAMS SM0IS HETA(HMED)
AN 48,500,0002 - JIF 50,000,0008 = A1,500
35 YHED % NEFHI(KIARY)
27 48,500,0002 - J1F 50,000,000 A1,500
AIE SKOHS HHHZER (W AE)
HF 29,100,002 - I 30,000,0008! = A900
ATE BUAD 2L S2EZ(HAEY)
AH 67,900,008 - JIE 70,000,002 £2,100
Al ASS S2EE L A (HORY)
X 38,800,002 - I 40,000,0008 = A1,200
H2S 2208 SZEI(HOEY)
M 48,500,0002 - JIF 50,000,0002 A1,500
Al 24012 S2EF (0 AR)
A3 38,800,008 - I 40,000,0008 = A1,200
e SHNY2TE L HAZHH (KAL)
X 38,800,0002 - JIE 40,000,0002! A1,200




Ao AE

Mooa)|ES sEME JIUEY
Pl sEIISAS =HE ZH R (St &)
SA B HE DS 0f &+ o4 I ol st ClimE=r, oz 2 A
O thel 21012 0AZ THEZ (M AE)
&3 38,800,000& - J1& 40,000,000& = 21,200
O 0ol S S22 2 2 Z0I(H8EY)
33 38,800,000& - 718 40,000,000& = 21,200
O CHel CH2 RS o SOHBAH(OIAE)
2% 194,000,000 - JI& 200,000,0002 = 16,000
O U= %= oioet SX(MaE)
38 48,500,000& - J1& 50,000,000 = 21,500
O U= WE 202 SHSAHAEZ)
2% 48,500,0008 - JI& 50,000,008 = A 1,500
O X% S8 s2FHI(HBZH)(0IaEL)
44 97,000,000& - JI& 100,000,000 = 23,000
O XIS MO SR (0 arE )
& & 97,000,000& - J1& 100,000,000& = 23,000
O X3 QA0S s2EZ(0NEY)
43 29,100,000& - J1& 30,000,000& = A900
sIIEANE= &5 .34l 5,437,933 5,247,933 190,000
401 AMlEHIK S0 5,409,013 5,219,013 190,000
5,380,000 5,190,000 190,000( 01 Al&HI 190,000
[J OlE H&sS s=2X28 60,000,000& = 14 = 60,000
0 =4 JES 842 Gl 100,000,008 * 14 = 100,000
O &2 23 ti+=2 Zl  70,000,0008 * 141 = 70,000
&= ds=s 52 Z&  100,000,000& * 14 = 100,000




£ A ALDY
38 NS sENE JIUEY
S 9 sEIIBAS 2E . ZH R (St &)
s -EE =S R E i 0 & 24 JIE ol &rey Bz a2
O e tHE= s+= Z8l 100,000,000 * 14] = 100,000
0 &0 0125 SREF(HAEY)
&3 30,000,000& - J1& 70,000,000& = 40,000
[ Ot IS B2 (CIAEY)
&3 390,000,000& - J1&E 410,000,000 = 20,000
O Y 2S4S a2 FHI(HaEY)
23 100,000,000% - JI& 140,000,0002 = 40,000
[ 22 2SS 2T (HaEY)
43 150,000,000& - J1& 200,000,000& = 50,000
O 28 355 Ha2FHI(HaEY)
33 220,000,0008 - J1& 250,000,000 = 230,000
O B¢ 25 B+2FHI(Ma =)
&3 50,000,000& - J1& 70,000,000& = A 20,000
O thel BHS -2 FHI (0 aE )
338 30,000,000& - 218 50,000,000& = A 20,000
O 3 OS5 a2 IHI(0aEY)
23 80,000,0002! - 71 & 100,000,002 = 20,000
BH = 0H 41 At 5,600,000 5,600,000 0
401 AIEHIZ SO 5,600,000 5,600,000 0
5,256,240 5,369,240 A113,000| 01 AlE8I A113,000
0 2S2XAY A 113,000
O HHIHE AR (CHERI ) (R #H)
AW 1,484,272,0008 - JI& 1,507,272,0008 = A 113,000
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2 N AED
H OB M)|ES SEME JIBEY
o9 SEJIBAE =5 ZY SN2 CEERED
SRR 0l ey S[E-RVINE" HREZ N
(7 Z2& 1,484,272 J| & 1,697,272] [& A 113,000]
327,200 214,200 113,000 | 02 Zcldl 113,000
O €8x AY 113,000
O BHAIHE ALY (CHERI ) (D2 )
113,000,000& = 1A = 113,000
s 113,000]
b= M A EHEH| 0 1,463,750 A 1,463,750
201 LBt 0 5,250 A5,250
0 5,250 A5,250(01 At 2teld] A5,250
0 JI2EFAY 75,250
O DAIIBAMAREE S|
2T 0= - JIF 5,250,000 = 75,250
202 01t 0 1,516 A1,516
0 1,516 A1,516(01 2 LHOHI 21,516
O JIsE22AMY A 1,516
O DLINPAILALSE AREO L ol
28 0& - JI&E 1,516,000& = 21,516
401 Al EHIZL =2 0HYI 0 1,456,984 AN 1,456,984
0 1,451,714 A1,451,714(101 Al&HI A1,451,714
O JIsE2X2 A N1,451,714
O D2MAIIBF YA
2 0& - JI&E 1,451,714,000& = A1,451,714
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Ao AE

MoA)ES sEME IR
? SEIIYAIL HE FH.3X2e (E51:82)
SN BE O M DS o IIE 0f o 2 & E 2
DI 28 0JI® 1,171,000] [71  A1,171,000]
(= 23 0713 87,825] [= A\87,825]
(Al ZE 0 I8 192,889] [Al  A192,889]
5,270 ~5,270{03 Al& = CHb] A5,270
0 JI22XAY A5,270
O A=l 2® 02 - JIE 5,270,008 75,270
EE i EIE=EE, 0 180,000
401 AlZHIZL = OhH] 0 180,000
0 180,000 | 01 Al &H 180,000
0 2SEXAY 180,000
O g &N 4L 60,000,0002 * 14 60,000
[= 48,000]
= 4,800]
LAl 7,200]
O = #=SXT 44 60,000,0008 * 14! 60,000
[= 48,000]
= 4,800]
[Al 7,200]
O O QI2IXI? 84  60,000,0002 * 14! 60,000
[= 48,000]




N AL
Mooa)|ES sEME JIUEY
Pl sEIISAS =HE ZH R S Ed)
s -EE =S R E i aroy Hlms2 a2
[= 4,800]
[Al 7,200]
ATR FUBOAY 260,000 260,000
401 A Z8IL 20| 260,000 260,000
260,000 260,000 | 01 Al&H 260,000
O SHEXAY 260,000
O 2HN TEIZ 522 U 42437
40,000,0008 * 14! 40,000
(= 20,000]
LAl 20,000}
O L2 322l SUY SHBA
60,000,0008 * 14! 60,000
(= 30,000]
[Al 30,000]
O 022 212l StHOFSHY St-EH |
50,000,0008 * 14! 50,000
(= 25,000]
[Al 25,000]
O 2209 4ye|(AM8) SREFIA
30,000,008 * 14! 30,000
(= 15,000]
[Al 15,000]
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